
Year 3 - Autumn - Block 3

Multiplication & Division 
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Jack has 18 seeds.

He plants 3 seeds in each pot.

Which bar model matches the problem?

A

B

Explain your choice.

18

6 6 6

18

3 3 3 3 3 3
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Sort the cards below so they follow round in a loop.

Start at 18 − 3 

Calculate the answer to this calculation.

The next card needs to be begin with this answer.

18

− 3

21

÷ 3

15

÷ 3

8

− 5

5

× 2

10

× 2

20

+ 1

4

× 2

14

− 2

12

÷ 3

3

× 6

7

× 2
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Start this rhythm:

Clap, clap, click, clap, clap, click.

Carry on the rhythm, what will you do on the 15th 

beat?

How do you know?

What will you be doing on the 20th beat?

Explain your answer.
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Tommy has four bags with five sweets in each bag.

Annie has six bags with four sweets in each bag.

Who has more sweets?

How many more sweets do they have?

Draw a picture to show this problem.
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Here is a blue strip of paper.

An orange strip is four times as long.

The strips are joined end to end.

How long is the blue strip?

How long is the orange strip?

Explain how you know.

20 cm


